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Question Number : 1 Question Id : 5915042417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Among the following, a quadrilateral in which diagonals are

perpendicularly bisecting each other is
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Options :

Square
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Trapezium
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Rectangle

Parallelogram

. CueuIgE

Question Number : 2 Question Id : 5915042418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Among the following, a wrong statement is

Options :
[f a number is divisible by '8, then the number is also divisible
by'4’.

[f a number is divisible by 2 and 3°, then the number is also
divisible by "6
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[f a number 1s divisible by *9°, then the number is also divisible
by 3

L
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[f a number is divisible by *5°. then the number 1s also divisible
by'8’.
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Question Number : 3 Question Id : 5915042419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The degree of a constant polynomial is
pull
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Options :
1. # 1

2.v 0

w10

4 % 100

Question Number : 4 Question Id : 5915042420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No



Correct Marks : 1 Wrong Marks : 0
The distance between the origin and point (-3.4) is

.;..Lw.,ug §(-3.4 )l 4

Options :
1. ® 6

Question Number : 5 Question Id : 5915042421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The product obtained by multiplying = with multiplicative inverse of

5
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7
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Options :
1. ® ]

2. ¢ -1



Question Number : 6 Question Id : 5915042422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The rational form of 349 1is
e FFud 349

Options :

L« 34.99
s« 349999

4w 3

Question Number : 7 Question Id : 5915042423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0



What will be the compound interest, if Rs. 2000 is invested for 2 years
at 10% per annum?
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Options :

Rs 400
&-+,400

1. ®

Rs 2420
& +,2420

2. ®

Rs 420

& +,420
3. 0¥
Rs 2400

Z_+,2400
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Question Number : 8 Question Id : 5915042424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The product c-fprime factors of 5500 is

<AL P21 L5500
Options :
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Question Number : 9 Question Id : 5915042425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No

Correct Marks : 1 Wrong Marks : 0
3log;os5 =

Options :

1% 0

2.~'/l

Question Number : 10 Question Id : 5915042426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If set A= {0}, then the correct one among the following is
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Options :
1. # {b: A

,x 0O A

Question Number : 11 Question Id : 5915042427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

i B i pu : C

The value of x in this figure is
G x P
)
A B
Options :
0

L 270

2. ® 900
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Question Number : 12 Question Id : 5915042428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Among the following, the curve does not indicate imaginary roots is
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Question Number : 13 Question Id : 5915042429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The least prime number in two digit numbers is
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Options :

al

3. % 97

4 % 19

Question Number : 14 Question Id : 5915042430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Among the following, an urrational number is
—csu UL o

Options :

T
L« 100
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Question Number : 15 Question Id : 5915042431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The length, breadth and height of a cuboids are 20 cmy 15 ¢m and 12

cm respectively.
How much of its volume will differ from that of a cube with the side
of 15 cm?
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Options :

~ 3
| % 300 cm

" 3
» = 250 cm

Question Number : 16 Question Id : 5915042432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

If tan A = cot B. then the correct one among the following is

5":‘;' . [ b "
e G UftU tan A=cotB /1
Options :
v A=B=45°

, » A>B>45°
; x A<B<45°

. % A#B#45°

Question Number : 17 Question Id : 5915042433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Among the following, a false statement 1s
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Options :
Every square is a rhembus
‘__,i
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Only one pair of opposite sides are parallel in trapezium.
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Two pairs of opposite sides are parallel in parul]elﬂgmm

b
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Every parallelogram is a rectangle.
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Question Number : 18 Question Id : 5915042434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The median of the given data 5.7, 8, 10.13,18..20, 23 is
e b-565, 7, 8, 10,13,18320, 23 =142+

Options :

L= 10

L o115

3 % IOS

4. % 13

Question Number : 19 Question Id : 5915042435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



If x =2, y=4is asolution of equation 3x + ay = 10, then the value of ‘a’ is

b ‘a‘.__..f.f_.uplﬁ}; +ay = 10=islry=4°‘x=2/1
Options :

1.330

Question Number : 20 Question Id : 5915042436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The lengths of parallel sides of a trapezium are 10 ¢cm and 8cm. If the distance
between the parallel sides is Scm, then the area of trapezium is

K 3635 Vs 5 Al Sle s UBE 0 S 8us 1022 S £ A
Options :
v 45 cm’

, w 4 cem
s x 90 em’

4w 0 cm



Question Number : 21 Question Id : 5915042437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which type of force is used in “"drawing water from a well” using rope
and a bucket?
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Options :
Normal force

'd

1. ® J«;U."\j

Magnetic force
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Muscular force

Question Number : 22 Question Id : 5915042438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



5 . -
cd—’ This symbol indicates

o 5
‘e O/ dbosle C 4-’
Options :

PS

1. #®

, « HDPE
.. LDPE

4o PP

Question Number : 23 Question Id : 5915042439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The property of drawing-a material into thin wires is
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Malleability
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Ductility
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Conductivity
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Question Number : 24 Question Id : 5915042440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is used to correet-vision defect ‘'myopia’?
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Options :
Concave lens

-
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Convex lens



Concave mirror
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Convex mirror
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Question Number : 25 Question Id : 5915042441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
‘Electro plating” is possible through
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Distillation
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Filtration
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Chromatography

£ i
wx GA



Electrolysis
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Question Number : 26 Question Id : 5915042442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a correct statement?
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Options :
Two positive charges repel
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. Two negative charges repel
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Positive and negative charge attract
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Positive and negative charges repel
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Question Number : 27 Question Id : 5915042443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identity the eclipse in which the moon completely covers the Sun?
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Options :
Total solar eclipse
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) Annular eclipse

Partial solar eclipse
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Hybrid eclipse
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Question Number : 28 Question Id : 5915042444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is a base in nature?
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Options :
Lemon juice

1. # ur 4 KJ'{I

Lime water

Tomato juice

3 . 4 IHFF.J K..J;L?

Curd

Gy
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Question Number : 29 Question Id : 5915042445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Doctors do not use this thermometer to measure the temperature of
a human body
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Options :
Clinical thermometer



Digital thermometer
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Thermistor thermometer
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Question Number : 30 Question Id : 5915042446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The device which converts chemical energy into electrical energy is
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Cell
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Transformer



Electric motor
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Question Number : 31 Question Id : 5915042447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The hormone that controls the dilation of pupil and increases heart
rate is secreted from
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Options :
Adrenal gland

=
+ 4
1. ¢ BWUK$32/

Pituitary gland

45T
2. ®
Pancreas
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Thyroid
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Question Number : 32 Question Id : 5915042448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Identify the incorrect pair from the following
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Options :
Tuberculosis-Bacteria
l-f_ ':,.
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Malaria-Plasmodium
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Dengue-virus

T
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Cholera-virus

4.9 O

Question Number : 33 Question Id : 5915042449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Excessive plant growth was observed in a river due to industrial waste that
effected the aquatic life by the depletion of oxygen is known as
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Options :
Biomagnification

o
=i O

Biodegradation

b5 13
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Sedimentation

F i

Eutrophication
5,
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Question Number : 34 Question Id : 5915042450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which one of the following is incorrect sentence?
- ST s s .i-f:’».-ﬂ":ru":ui LOPL)
Options :

Plants adapt themselves to the different conditions in nature in different ways.
Sl _—/IINh—--*UJ/‘h-L, /JIJJL;U*J;L-J'IJHJ%?QJJJJL;

Along with transpiration leaves help in the preparation of food.
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- sl Sk S A AL g S
The crops grown in winter season are called kharif crops. It starts from
October to January.
- "i - }7 w
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Venation acts as a skeleton of the leaf and give it a specific shape.
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Question Number : 35 Question Id : 5915042451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The method of killing of silkworm larva in steam oven is called
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Options :



_ Steaming Lo
1.

, » Stiffling &

Stirring (>

3. %
, « Reeling £

Question Number : 36 Question Id : 5915042452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The part which is not present in the retina of the eye :

" 3 . ~
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Options :

Rod cell

Macula

U b

Blind spot

3 ) ,l’l‘ijh.-g';t.



Cornea
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Question Number : 37 Question Id : 5915042453 Question Type : MCQ Option Shuffling : Yes Display Question Number
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Identify the correct sequence of sperm passage in male reproductive
system
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Options :
Testis—Epididymis — vasa efferentia ~— Vas deferens—
Ejaculatory duct— urethra

*

U — Bl gl Gail, «— oy 3
1. % i
Seminiferous tubules — vasa efferentia —Epididymis—
Vas deferens— Ejaculatory duct — urethra
= e i Fung = "." # =i “ = >
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Testis — vasa efferentia — Vas deferens— Epididymis —
Ejaculatory duct — urethra
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Seminiferous tubules —Epididymis — vasa efferentia — Vas deferens —
Ejaculatory duct — urethra
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Question Number : 38 Question Id : 5915042454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which blood vessels carry oxygenated blood to left atrium of the heart?

LD 0GR T wi s
Options :
pulmonary arteries

) A0

renal arteries
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superior and inferior vena cava
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Question Number : 39 Question Id : 5915042455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Identify the non-carnivorous plantfrom the following
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Options :
Bryophyllum

=l

Drosera

g
JAEVE

Nepenthes

-
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Utricularia

|3
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Question Number : 40 Question Id : 5915042456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which experiment is depicted in the following figures?
-»’[’—-J’J"?i-u”iji WJJL}:JJ

Options :
Oxygen is evolved during photosynthesis
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Sunlight is necessary for photosynthesis
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Carbon dioxide is necessary for photosynthesis
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Starch is formed during photosynthesis
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Question Number : 41 Question Id : 5915042457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The colour used to show the lands suitable for agriculture in the map is
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Options :
.« Yellow colour .

. Light Red colour .0 ~€

; v Brown colour £,

, » White colour {4

Question Number : 42 Question Id : 5915042458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Famous valleys and summer resorts are in the following range
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Options :

-

v Lesser Himalayas  Jk ¢



- Purvanchal mountains sz /s

*
2
-4

: L
Greater Himalayas — Jk~

3. %

L Outer Himalayas Jads

Question Number : 43 Question Id : 5915042459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
This state does not have Tungabhadra river basin
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Options :

.« Karnataka {1/

, » Telangana €

- Andhra Pradesh =g 247

)
-

, » Kerala vz

Question Number : 44 Question Id : 5915042460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
This is an example for second order landforms
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Options :

: ¥
L Continents fl’ s
, » Plains gl

., Valleys ol

, » Delta k3

Question Number : 45 Question Id : 5915042461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Forest located in the mid latitudinal coastal region are

:&Léfj_.ljifur:g'slkpkifiw&‘liuk_,ﬁu’hﬁi‘
Options :
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L TE‘IHPEI’H[E ever Green forests :al,é?JLf{Fﬁ“ulf-"'
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Question Number : 46 Question Id : 5915042462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The dynasty that introduced the Nayankara system
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Options :

*

. » Mughals 7
, » Kakatiyas _¥¥
- Cholas vz

, » Asif Jahi (2T

Question Number : 47 Question Id : 5915042463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Arrange the following in chronological order

. - i S P L
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i.  Civil Disobedience Movement £ 7}/ )s

ii.  Khilafat agitation L 7l

1. Chaurt Chaura incident Sl S8

iv.  Partition of Bengal JEAT
Options :

| x L, 1L, 100, 1V
, » 1v, 111, 1i, 1

3w 1V, 10, 111, |

4w Lil, iv, ii

Question Number : 48 Question Id : 5915042464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The argument. “in order to get complete equality private property and

common enjoyment of the land and its fruits should be abolished™ was
put forth by
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Options :

Babeut _4
1. ¢

Ll

, » Thomas moore < "V

i

; % Saint Simon Lo

. -~ r -
, » Fredric Engels Naa =0

Question Number : 49 Question Id : 5915042465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
This is not a Mahajanapada

. .---""‘::r L |
U =l .
Options :

.« Kosala s



=
, » Magadha >4

. Gandhara 1A=

, » Kalinga K

Question Number : 50 Question Id : 5915042466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

This is the result of "Enabling Act’
< = 6 Enabling Act’,

Options :

,.dln'

. Dictatorship in Italy ...a,-: U

y Dictatorship in Germany [~ 285~
2. i -

, » End of Monarchy inRussia 280" 2y

. The League of Nations AT

Question Number : 51 Question Id : 5915042467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

This 1s 1n concurrent list

. :P - ” * .-""'H:"A
e P S

Options :
[rrigation ST
1. ® = 2
Electricity  §= i
2. ¢ g il

_ Telephone system ¢~ BE
3.

r
Lol

, » Health Care Ju ot s e

Question Number : 52 Question Id : 5915042468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

This is not the main demand of the people during the Assom movement

- ¥ |" P —
(P10 I TSI (S ey
Options :

The local people should be given greater preference in employment

el I # - a * & . |"r cooF
Z Pl Oral sl i B Cly ks
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The resources should be used for the benefit of the locals

£

¢ i lisw) R s T B
=l Je L L 6L 1 Sa s 4%

Treating Assom as an internal colony

F‘.L_vfl"»f—‘*"l{:;;bi 581 L1 T
3. ¢ ’

The * outsiders” should be removed

e bl O A1k 2

Question Number : 53 Question Id : 5915042469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The articles related to the formation, powers and the functions of the
Election Commission are from
S 1590 S sl 25 O I

Options :
Articles 14 to 17 VAL [T

, » Articles 370 to 375 FLOMT Lo sty

. Articles 356 to 360 g R0 o} FEWH D



, » Articles 324 to 329 rragrrai,

Question Number : 54 Question Id : 5915042470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
During the First Year Plan priority was given to

P_“l .’ .;7 e
S W:Lﬂ 93 2 'wEd’i
Options :

i ot 2
 « Industries

» Agriculture =s1.;
Railways « s
3 &

. Civil aviation $i=( 7~

Question Number : 55 Question Id : 5915042471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
[dentify the incorreet statement in the following

'u.-*l_;‘ 'L’J:Jfl_,-uu LIOY3)
Options :



The police is not a part of judiciary

. |

- T 2K ety

To get bail, certain sureties has to be given in the court
- et SO e S sl Li S S oeiio

Session’s court hears civil cases
3 /I Sl diysaie g™

In the Police station, sub inspector was the SHO

- ‘.'!- |

L < tvSHO A i1~ o

Question Number : 56 Question Id : 5915042472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Under employment means 7« /£s, *
Options :
Less number of people working in agriculture than required

- o ;
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People are apparently working but all of them are made to work less
than their potential

I .; iy " u--"- | |"-.-l jl ri-'"
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More number of people working in agriculture than required
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All are fully employed as per their potential
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Question Number : 57 Question Id : 5915042473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The recommended food intake in Kilocalories per day for Urban
and rural areas respectively is

B & -~ ~ - . - &
Pl . [ e]  a% i ] ol e ¥ Fod y A . .
Fal . u;_,’;hwuglﬁd{:;ﬂf ..vgs...rl;,u.«i. e Y L6 (S 2810 o
Options :

. 2100, 2400 kilocalories 24 #2100, 2400

L« 2400, 2100 kilocalories 2.4 #2400, 2100



.. 1624, 1900 kilocalories 1624, 1900

, » 2143.2521 kilocalories zi & 2143,2521

Question Number : 58 Question Id : 5915042474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
This is not included in goods and services tax:
‘.:;r o p 'k

—_ e L:':"L-—""u' s &hﬁ;‘!';'
Options :
| » Water purifier 7§ /s

o Diesel 3

2.

. « LEDbulbs = LED

L x Fruit Juicer Ay

Question Number : 59 Question Id : 5915042475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Size of land holding of small farmer in India (2010-2011) is
Fbr £ (2010-201 DAK 8 sy LS oF e sse
Options :

« 5.1t0 10 Acres  A/10¢5. 1

,»2.6t05 Acres  £15t2.6
. « Upto 2.5 Acres EA2.5

, » More than 25 Acres  s4Jjc 7125

Question Number : 60 Question Id : 5915042476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The right to pollution free waterand air for full enjoyment of life comes
under the

b Py 'I".""-' Q™ i"f '*' i # e f x & . 2 LY
-Lu#;-uu J'lé-uh..‘ ?Eliin_wq};—d}}llLZ";'!'uW}L-”_-A’—-L:J"FYU .?‘Ii_}.d-i
Options :

. = Article 20

, » Article 21



, » Article 24

L x Article 25

Teaching Aptitude
Section Id : 59150482
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 59150498
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5915042477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What are the three components of the educational process

B - d f

S * o
Ve o)y AR ) e

Options :
education. teacher and books
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o E s te 2



teacher. student and education

Ak s

2. ¥

direction. instruction and skill

¥ i
3 % Y IR

teaching, learning and practice

e e
L O s ATl as i

Question Number : 62 Question Id : 5915042478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is the compulsory element of learning

+ I > i -
Options :
ability to read

L~
| & L
=z s

bright mind
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intelligence

3 % )
inquisitiveness
">
&,
4. ¢ )

Question Number : 63 Question Id : 5915042479 Question Type : MCQ Option Shuffling : Yes Display Question Number
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The reason to prefer women teachers at primary level is

r l??.: - - "l ) B “?f‘ # <
S 2I0E G 710 F e L0 O A1

Options :
they teach with patience

u::.b;ﬁ?v ifﬂ:

they help students overcome ‘separation anxiety  of being
away from their mother
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women teach better than men

3 % Ll e =) 2 p 17

: Yes Is



they do not scold students
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Question Number : 64 Question Id : 5915042480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A teacher should have

a-'lf L'_."";F ur: .‘ll:""i h--l;:'
Options :
good physique
._“.f-"L,P:.,_ﬁ:I
expertise in ICT

competencies and skills in teaching
3 o u:f__r\/“‘.j,ﬂl_"ﬁid U-'::_.r'i"

values

4 i J',JJ



Question Number : 65 Question Id : 5915042481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A teacher 1s self-confident when there 1s

oW -
—2 e UL oL
- b s 2]

Options :
authority on subject
2
Al w3 g il at
1‘--';/ h.""Lf'a-".—*. "-’;-h-"-'

social with all

i-l-l-’. | I.r)‘

attractive personality
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influential

w7l

Question Number : 66 Question Id : 5915042482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Teachers become popular among students, when they

2 B sty P n St
Options :
develop intimacy with them

s

o~ L aa -
) | { f
% S e/ F

take extra classes

5 % S T 3L
award good grades
=
- e sik/ &
help them solve their problems
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Question Number : 67 Question Id : 5915042483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

I choose teaching profession because

-
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Options :



Teaching is an easy work

1 r If! - e

1%
[ can have ample time to look after other works
b e 2
) % =\ ) ._“..J:L,':L{f‘._'”:.*;;;_,':‘ Ke a2
[ respect teaching
- Und e I e s
[ have passion for teaching
o S e Fd
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Question Number : 68 Question Id : 5915042484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The success of a teacher is indicated through his / her

T S L JIALERL S 1L
Options :
students achievement
.:.u&j o l_f{b

1. #®



good traits/personality
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quality teaching
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good character

Ol Zx |

Question Number : 69 Question Id : 5915042485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What is most important while writing-on-blackboard?
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Options :
neat writing
(o
1% ool

legibility in writing
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writing in big letters
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—— -
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writing in small letters
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Question Number : 70 Question Id : 5915042486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A mild response of the teacher to the student disrupting others is

eln F s ELESC, ;T_.:Jl;tvwﬂ/._,'ﬁfﬁ i L (li_,~'ib£_'fi

Options :
detention

If-l -
1 ® b2 id_as
withdrawal of privileges

e
p 35 2
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warning

|
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suspension from class
- I.bj"' ) -
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Question Number : 71 Question Id : 5915042487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The learning which is a result of drawing inference in a class by the
student 1s

'T e e . & v | s .y
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Options :
creating

i L)

1. % e

remembering
/A

applying
SOk

analyzing
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4. ¢



Question Number : 72 Question Id : 5915042488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Talent Search Exam is conducted by

u::r " 'D-F"-'IK I\? lL,r '—-H'L': w
Options :
, UGC sy
_,NCERT {.idisy

.« AICTE ¢idsdiet

UPSC ¢ 210y

-
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Question Number : 73 Question Id : 5915042489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What initial step you-would take to handle eve teasing in your class?
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Options :



counsel the trouble making boys

L& L;.__.,,al.,..‘uu';": .J_.I'*;./ 'LJ 4

warn the girl’s parents

o) ) L./I K'J' b "L—-V{:ﬂ:l

obtain a written complaint

LS S btk $s 7 L

take to Principal’s notice

W1y 4

Question Number : 74 Question Id : 5915042490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which of the following is an ﬂcceptahle method?

»--'3' -.J'-L'/J:J |,. (P8 L_,-r:g_j et
Options :
spare the rod orspoil the child
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spare the rod and spoil the child
eV E Il 174

bend the tree while it is young

Ul a2 =Ss S1 =3

practice makes everybody perfect

'; ; Y If - -
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Question Number : 75 Question Id : 5915042491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Special education is meant for

Options :
normal children
1. % )

poor children

s



rich children

&
3. % ¥
exceptional children
-
4. ¢ é-u 4

Question Number : 76 Question Id : 5915042492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

NEP 2020 stands for
) e NEP 2020

Options :

Nation Education Policy 2020
202005, o #1

1. %
Nation Educational Policy 2020
. 2020584, SX 21

National Education Policy 2020
| ar o
202057, % £



National Educational Programme 2020

202001 (= 217

Question Number : 77 Question Id : 5915042493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The major responsibility of the teacher is to

Options :
evaluate the school administration
e e e O - R
SIS

cooperate with other teachers

P R I___.-- .
b/l s Lkl 79y

transmit knowledge of subject matter
S e 3

lead and guide his class group
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Question Number : 78 Question Id : 5915042494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The most important task to be accomplished by a teacher is to
'T—"tﬁfl‘:f-"lgifﬂlfgf‘?'; — el df,f:--g'
Options :
maintain discipline in class
L-z(_,«; Fgrl*-:’ Sl g

1. ®
conduct examinations and give feedback
e " . L
5 % VIS LT W U g
make students prepare assignments
NN wir X oAl
3% '
develop skills of learning how to learn
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Question Number : 79 Question Id : 5915042495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Teacher is referred as ‘Friend, Philosopher and Guide™ because
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Options :
he transmits the high value of humanitv to the students

. PRI VI I DS

he plays all vital roles in the context of society

2. aj..L,fI-l;l-; ﬂ‘*i*p.j ,J__p.;,__uk

he 1s a great patriot
.:'_.I.:':f;,"[’a._‘.ﬁ';‘?..g:f

he is a great reformer of the society

e Lt

Question Number : 80 Question Id : 5915042496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
To develop cooperation and team spirit among students, which activities
do you prﬂpose?
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Options :

Debate
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Project work

2.¥

General English
Section Id : 59150483
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 59150499
Question Shuffling Allowed : Yes

Question Id : 5915042497 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (81 to 85)



Read the passage carefully and answer the questions that follow:

Whatever the Constitution may or may not provide, the welfare of the country
will depend upon the way in which the country is administered. That will
depend upon the men who administer it. If the people who are elected, are
capable and men of character and integrity, they would be able to make the best
even of a defective Constitution. If they are lacking in these, the Constitution
cannot help the country. After all, a Constitution like a machine is a lifeless
thing. It acquires life because of the men who centrol it and operate it, and India
needs today nothing more than a set of honest men who will have the interest of
the country before them.

Sub questions

Question Number : 81 Question Id : 5915042498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The passage i1s mainly about
Options :

. « the Constitution

, » administrative reforms

, » Weltare of the country



L quality of leaders

Question Number : 82 Question Id : 5915042499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the passage, which of the following statements is true?
Options :
. » The Indian Constitution is defective.

, » The progress of a country depends on its Constitution.
, » Good leaders can compensate for the defects in the Constitution.

, » Qreat leaders don’t need a Constitution.

Question Number : 83 Question Id : 5915042500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the passage. which of the following statements is untrue?
Options :

.« India needs a Constitution free from all defects.

- A Constitution by itself cannot ensure the welfare of the country.



- A Constitution is only as good as those who administer it.

, » India needs leaders with capability, honesty. and integrity.

Question Number : 84 Question Id : 5915042501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the passage, the welfare of the country ultimately depends upon
Options :

. = the Constitution

, » the administration of the Constitution
, « the quality of the people who administer the Constitution

, » the quantity of the people who administer the Constitution

Question Number : 85 Question Id : 5915042502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

According to the passage, what India needs today. is a set of
Options :

| » articulate leaders



, » selfless leaders
, » charismatic leaders

, = aggressive leaders

Sub-Section Number : 2
Sub-Section Id : 591504100
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 5915042503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Choose the word with the correct spelling.
Options :
.~ Changeable

, « Keroscene

, « Carriculam

, = Finoil

Question Number : 87 Question Id : 5915042504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Choose the word with the incorrect spelling.

Options :
| » Phenomenon

, « Embarrass
, » lrresistable

, » Harass

Question Number : 88 Question Id : 5915042505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The synonym of ‘equivocal’ is
Options :

| = loud

, » lmpassioned

, » balanced

, » unclear

Question Number : 89 Question Id : 5915042506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The antonvm of ‘dismal’ 1s
Options :
|« admit

, « trivial

, » remarkable

, « Pathetic

Question Number : 90 Question Id : 5915042507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
To “cut your teeth” (on something) means

Options :
|« toinsult someone

, « O gain experience

to injure oneself
3. % ~

, » to take back your words



Question Number : 91 Question Id : 5915042508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
A group of owls is called

Options :
| » acolony

, » aparliament

, » acollective

dan army

Question Number : 92 Question Id : 5915042509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the appropriate word.
[ liked the half of the film.

Options :
.. later

1.

, » letter

, v latter



, « litter

Question Number : 93 Question Id : 5915042510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the appropriate determiner.
The virus returned after year.

Options :
1% dll

, « the

3.9 4

4 % SOme

Question Number : 94 Question Id : 5915042511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the-appropriate determiner.
[ can speak Hindi, but not very fluently.

Options :
. little

, » alittle



; » much

4 % afew

Question Number : 95 Question Id : 5915042512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the appropriate preposition.
The principal congratulated the students their success.

Options :
1. ® of

, » for

, » about

, » On

Question Number : 96 Question Id : 5915042513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the appropriate prepositional phrase.
the lockdown, we all worked during the summer.

Options :



. « Instead of
, » Incase of
, « Inspite of

, » In fact of

Question Number : 97 Question Id : 5915042514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the appropriate phrasal verb.
He when he failed the test.

Options :

. broke up

1.

- broke down

; » broke out

, » broke off

Question Number : 98 Question Id : 5915042515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



[dentify the part of the sentence with an error.

The police will seize your vehicle if you will break the lockdown rules.
Options :
. The police

, « Will seize

if

3. ®

A will break

Question Number : 99 Question Id : 5915042516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Identify the part of the sentence with an error.
We disposed off all the junk last month.

Options :

.« disposed

, » the junk

4w last



Question Number : 100 Question Id : 5915042517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
The word “bulls eye’ is associated with
Options :
archery
1. ¢ >
bullfighting

, » baseball

4 «» billiards

General Knowledge and Educational Issues

Section Id : 59150484
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 591504101

Question Shuffling Allowed : Yes



Question Number : 101 Question Id : 5915042518 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Who is the present Chief Justice of India (CJI)?
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Options :
Shri Nuthalapati Venkata Ramana

. sl GUEFS A

Shri Nara Vijaya Ramana
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Shri Ranjan Gogol
g o
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3.

Shri Sharad Arvind Bobde
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Question Number : 102 Question Id : 5915042519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
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Who received 517 Dadasaheb Phalke Award?
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Vinod Khanna
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Right to freedom is guaranteed by Constitution of India under
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| » Article 17 175

, » Article 18 | 8ts
3 ® Article 1 .33

i Article 20 205

Question Number : 104 Question Id : 5915042521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Who is the present UN Secretary General?

e
LSO . PP

i -
| - # b |"”-' - -
Y0:{0L, u';?ujmff_.sﬁ",*'lfluﬁr

Options :

Antonio Guterres _~ .;Zx'#,f}"'l
1. ¢ -
. Ban Ki-moon s

, » Kofl Annan e 3

L Adhanom Ghebreyesus U7\ £



Question Number : 105 Question Id : 5915042522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Who is the author of * Manohar Parrikar; Brilliant Mind , Simple life?
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India Ranks ____ inworld Economic forums gender gap index 2021
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World Health day observed globally on
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The Bombay Stock Exchange SENSEX is based on the performance of
how many companies
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Options :
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Prime Minister of India Launched SWAMITVA scheme to provide
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Options :
Integrated Property validation solution for rural youth India
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Intellectual Property Rights
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Pradhan Mantri Krishi Sinchayi Yojana (PMKSY) aims to
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Options :
Promotion of commercial organic production through certified organic
farming.

L% t:.u'i,;j).f Jal "::JFL'J;E&:EH'J‘;'{: d;é’-fl.(d‘fl: .-3##‘&".

[ntroduces sustainable water conservation practise, among others.
- - " ri -
. s/ Bl s s S o3 AL EFS



Making agriculture more productive sustainable, remunerative and
climate resilient
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Promotion of commercial crops with hybrid varieties

L ool s UM OS5 A1 )

Question Number : 111 Question Id : 5915042528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
National Bank of Financing Infrastructure and Development (NaBFID)
U0 2 s (NaBEIR) e 3 £ 1 31 EE 66 i P
Options :
Supports the development of long- term non- recourse
infrastructure financing
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Supports the development Df rural area project



Provides technical and financial knowledge to international
infrastructure start —ups only
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Provides Financial support for short term infrastructure projects
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*“Naba Barsha™ harvest festival celebrated 1n
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. » Tamil Nadu ss¢he
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YUDH ABHY AS 20 is an annual bilateral joint military exercise between
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Options :

. USA and China %L

» USA and India  gJEsresslk oI
. USA and Russia VA,

. USA and Japan @ybs-£ /1
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Which Country ranked Number one in Human Development Index 2020
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Quad or Quadrilateral Security Dialogue nations are

i1l = 148 - Quadrilateral L Quad
Options :
India, US, Australia and Japan
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SWAYAM stands for Study Webs of Active Learning for Young
Aspiring........

Study Webs of Active Learning for Young EIdSWAYAM

< Aspiring........
Options :
- Module 5l
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, « Merit

. Mature
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Unified District Information System for Education- U-DISE Maintained
by National Informatics Centre, Govt. of India is a
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Options :
Database about schools in India
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Software for education in India
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Examination system in India
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Information of Educational institutions in India
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As per recommendation of the NEP-2020 which of the following
course will be discontinued
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The National Achievement Survey (NAS) is a representative sample

of schools from all districts.in India aimed at understanding the status
of the education system-is administered by
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The Right of Children to-Free and Compulsory Education Act or Right to

Education Act (RTE)1s an Act of the Parliament of India enacted in
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As per the abbreviation of STEM education, the alphabet T stands for
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Options :
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, » Tuition s
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ICT stands for :

St 3SICT
Options :
Information and Communication Technolﬂgy
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Information and Communication Techniques
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The term that refers to the method of how teachers teach, in theory and
in practice is called as

iu.?g—*f-'%l/b 'f-“p J" "L/}" s —-L”a;.u/bu "ﬁb”'a‘?uﬁﬂ'”

Options :
_ Psychology =(#

. Philosophy ¢
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National Institution for Transtforming India. also known as NITI

Aayog formed in which of the following year?
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L v 2015
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The Program for International Student Assessment (PISA) is an

international assessment that measures 15-year-old students'
reading, mathematics, and science literacy every
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In STEM, which is a curriculum based on the idea of educating
students. “E” stands for
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Ministry of Human Resource Development is recently renamed as:
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Ministry of Empowerment of Education
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As per NEP-2020, a teacher will be able to teach in mother tongue or
regional language up te.Grade........
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As per NEP 2020 which of the following will'be created as an apex
body for fostering a strong research culture and building research
capacity across higher education
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Options :
National Commission Foundation
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National Research Foundation
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National Accreditation Council
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The Justice Verma Commission recommendations are pertaining to
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Computer Awareness
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Which tool is used to compress the big'file into small file?
e b T ke A S 62 Sy
Options :

Win Spread

j_ ~ela

P T

Win Style



Win Zip
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What is the default extension of Notepad
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Options :

.« (.doc)

} (.html)
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(.txt)
3.

~ (.tf)
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Correct Marks : 1 Wrong Marks : 0

A total of 1024 bitsis

S vl 1024 17
Options :

. 1GB
,« | KB
. 1TB

.1 MB
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What does SSL stand for ?
o e SSL

Options :
Secure Socket Layer
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System Socket Layer

,-f A
2. ®
Super user System Login
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Secure System Login
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What is a URL ?
i‘;.;f URL

Options :
A computer Software Program
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A type of software for maintaining our names
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The address of a Document or “page™ on the World Wide Web
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An Acronym for Uniform Resources Locator
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HTML is used to
<o S ¥HTML
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Plot graphs
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Translate one Language into another
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Solve Equations
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What isa “ Spider” ?

e/ Spider”
Options :
A Computer Virus
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A program that Catalogs Web Sites
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A hacker Who Breaks into Computer Systems
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An application for viewing Web Sites
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Y our computer has gradually slowed down. What's the most likely

cause?
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Options :
Overheating
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Your processor chip is just getting old
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Adware/Spyware is infecting your PC
Lo e/ G et Z T Adware/Spyware
Memory is overloaded
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Correct Marks : 1 Wrong Marks : 0
The term that is used to instruct the computer to put the information in
specific Order numerically or alphabetically is called-
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Crop
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The Storage device which retains data even after power cut is known
as

i Tl b pr . I;.;‘*': - e b
LL—'T.-',/&! JKLL,‘.‘_.Q!LIK_.L-KS L,‘;{.*?."L('é L ool

Options :
Direct storage
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Which of the following Operating Systems reads and reacts in actual
time?
&/ react s read f =3 SO L TS w5l
Options :
Quick Response System
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1. # 7 o
Real Time System
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Time Sharing System
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Batch Processing System
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Which of the following does not occur usually during the power-on-
self- test (POST)
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e JE Cls g e Ll el power-on-self-test (POST)
Options :
The Scan Disk utility begins to run

e Jonls Pl g Caull

1LV
The video card and video memory are tested
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Memory Chip is checked toensure that they are working properly
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A light sensitive device that Converts drawings, printed text or other
images into digital form is
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A set of information that defines the status of resources allocated to a
process IS__
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Options :
Process Control
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Control Unit
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Instructions and Memory addresges are represented by
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Options :
Character Codes
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Parity Bit

Question Number : 146 Question Id : 5915042563 Question Type : MCQ Option Shuffling : Yes Display Question Number
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Specialized storage element in the processor unit of a computer which is
used as a * scratch Pad™ during Processing operations is
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Storage register

| % ,;"?JS'J!:”
Primary memory
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[nstruction register
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Cache memory
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Compilers and interpreters are themselves
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High level Languages
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Codes
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Mnemonics
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The register which keeps track of the'execution of a program and which
contains the memory address of the instruction currently being executed

1s known as
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Memory address Register
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Program Counter
Instruction Register
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Question Number : 149 Question Id : 5915042566 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Which one of these stores more data than a DVD ?
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CD Rom
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Blue Ray Disk
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Question Number : 150 Question Id : 5915042567 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Arrange the units of memory — TB, KB, GB, MB in descending order of
size
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Options :

.« ITB>MB >GB > KB
, » MB>GB >TB > KB
, » IB>GB > MB > KB

, » GB>MB>KB>TB





